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Reading (12
Read the story and answer the questions that follow.

The angry king ordered his guards to put his minister in prison. The minister had
argued with the king on some law-and-order issue. One day,the emperor made a
visit to the prison. The king told the minister” | will release you on one condition.
You need to bring me a horse that is neither white, nor black,nor brown,nor grey.”
The minister was astonished at his demand. However,he agreed to this condition.

A week later the minister came to the palace. The minister said” | have found that
horse but | will show him to you only on an auspicious day.” The king agreed.

The minister said,” | will show you the horse on any day, other than Sunday,
Monday, Tuesday, Wednesday, Thursday, Friday or Saturday”. The king burst out
laughing. He was cleverly outsmarted by his minister. The minister was released and
promoted to the next higher position.

1- Why did the king put his minister in prison?

5- Write a word from the passage that means-

To beat in a competition of Wits- .......ccovvevvvveeiecerenne
6- Complete as shown in the example-

Eg- early earlier earliest



High i e

Read the poem and answer the following questions.

Children, you are very little,

And your bones are very brittle;

If you would grow great and grand

You must try to walk calmly.

You must still be bright and quite,

And content with simple diet;

Happy hearts and happy faces

Happy play in grassy places__

That was how in ancient ages

Children grew to kings and sages.

But the unkind and unruly

And the sort who eat unduly,

They must never hope for glory

Theirs is quite a different story!

Q-1 Fill in the correct option.

a) Little children’s .....cccooveveevecieerinnene. are very brittle. (eyes/bones)
b) Glory doesn’t come to ......cccecveeennee. children. (unkind/kind)

Q-2 Write the rhyming words from the poem.
a) Little- o,

Q-4 Complete the lines of the poem.
Happy hearts and ........cccoeeeeeeieeeeeceeceeee e e ,

Textual Questions (12)
1- Why was Jane quiet in the class?

AL S e e e e e et seh b e ea e e et aeaes st aeesn e sn sreseseaeseseaenes
2- How many brothers did the barber have?

AANIS et e ettt e ae et e e e ee e e aeaennreaenre e
3- When do children go to school in Topsy-turvy land?

AN TP OO SO P PSR

4- Who was Gulliver?



Creative Writing (10)
Write a short story based on the proverb ‘A friend in need is a friend
indeed’.
Ans.



---------------------------------------------------------------------------------------------------------------------------------
---------------------------------------------------------------------------------------------------------------------------------
---------------------------------------------------------------------------------------------------------------------------------

---------------------------------------------------------------------------------------------------------------------------------

2- Look at the picture given below and make 5 meaningful sentences about
it.

Grammar (6)

Do as directed.

1- Fill in the blank.

ONCE WE ..ottt the city of lakes, Udaipur.(visit/visited)
2- Complete the sentence.

| was crossing the road yesterday When ........oocveeveieeceeeieece e,
3- Select the correct answer.

The e sang beautifully.(choir/group)
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Fill in the blank with suitable words.
Mohit is very happy but Rohit is .......ccccveevenennne. than Mohit. (happy)

Rewrite the sentence using the suitable pronouns instead of underlined
words.

Rajiv went to the party with Rajiv’s brother as Rajiv’s friend has called both
Rajiv and Rajiv’s brother.

Underline the describing words in the following sentence.

| told a funny story to my younger sister.

Vocabulary (5)
Write word that rhyme with the given word.

Add the correct prefix to the underlined word given and write the sentence
again.
Manav always obeys his parents.

Write a word which means —
Injury by blow to body-.........ccccovvvrneiiieenn,
Complete the sentence.

A, Is an underground passage for people to cross.
Add -less / -ly and rewrite the word.
ANEIY- i

Spellings (5)
Make meaningful word using the given jumbled letters.
Renuthaeed-.........ccceveeneneene
Find the missing letters.
Ma_esti_al_ _
Circle the correct spelling.
Curiosity  curiocity  curiosity
Write the missing letter and complete the sentence.
Hariwasab_ |
Correct the spelling and write the word.
[pmortnat- ...
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1.Fill in the blanks with the right answer. (1/2x10=5)

a) The space occupied by any object is called its

b) If TH‘l represent 20 bananas then T THE | | represents bananas.
c¢) If a mason is paid Rs 125 for a day then he will be paid rupees for a week.
d) Sanjay makes the different shapes with a thread of 40 cm long. has the

biggest area. (Square, Rectangle, Circle, Triangle)

e) One-tenth of a Kilometer is m.

f) 30 rupees 5 paise = Rs

g) There are faces in a cube.

h) If 2 cm on map is equal to 100 km on ground then cm on map is equal to
150 km on ground.

i) Rohit lives in Delhi. He wants to meet his friend in Kerala. Rohit will travel in

direction.

j) A 3-dimensional perspective drawing is called,
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2.Do as directed. (1x5=5)
a) Kamal’s father lives in USA. He sent 76 US dollar on his son’s birthday to buy

gifts. How much Indian rupees will Kamal get?(One US dollar=76 Indian Rupees)

b)Sanjay has a rectangular field which is 275m long and 105m broad. He wants to

fence his field with wire three rounds. How much wire will he need to fence his field?

¢) A gardener wants to plant 1029 trees. He plants 25 trees in each row?

i) How many rows can he plant?

ii) How many trees are left?
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d) 76 cubes of side 2 cm are arranged in a line to form a platform. How much space is

occupied by the platform so formed?

e) The weight of a 10- rupee coin is 12 g. How many such coins are there in a bag

which weigh 1 kg 440 g?

3.Fill in the blanks with the correct answer. (1/2x4=2)
a) A picture is drawn on 0.5 cm square grid. If it is drawn on a 2 cm square grid then
its area becomes times.

b) The amount of surfaces encloses by any figure is called its

¢) The distance between Jaipur and New Delhi is 300 km on ground and it is shown

by 3cm on map. So the scale on map is 1 cm =

d)0.8 m= cm.
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4.Count the number of cubes in this model.

No. of cubes in layer 1 =
No. of cubes in layer 2 =

No. of cubes in layer 3 =

If the side of each cube is 2 cm then the volume of the shape

5. Answer the following.

(1/2x 4=2)
2 i
< Layer-3
< =
< Layer-2
‘(. Layer-1
(1x5=5)

(a) Alok took a loan from a bank and paid Rs 36000 in one and half year in equal

installments. How much money did she pay every month?

b) The favourite games of some people are given in the table.

Games No. of people
Hockey 20
Badminton 25
Cricket 40
Football 15
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i) Show the games in the Chapati Chart.

ii) The number of people like Badminton is (1/2 . %) of the total number of
people .
¢) Draw a deep drawing of a cuboid. Also draw the side view of a bridge made up of

matchboxes.

d) 4 marbles push 30 ml of water. How many marbles will push 120ml of water?

¢) How much area will be enclosed by a square whose length of boundary is 40 cm?
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6. Fill in the blanks with right answer. (1/2X6=3)
a) The product of 108 and 6 is
b) Rohit has to grow 16cm to reach 2 m height. Her height is m.
c)8.09x24 =
d) The volume of a cube becomes times greater if its side is tripled.

e) honeybees of 0.6cm length can sit on a 2.4 cm long stick.

f) The weight of one 2-rupee coin is 12 g. The weight of 125 such coins is kg.

7. Do as directed. 2x5=10)

a) Look at the route map and answer the following.

Saharanpur
!
7N
b
as8em “\5.4 em
/ \ MNoida Delhi
3.5em / N 3cm 4 cm
Haridwar Luxar 7.2 ecm Mearut H..""-\_ Ghaziabad
-.L\"x 3.6 cm
1cm=100km
i) The distance between Saharanpur and Delhi is on map.
ii) The distance between Luxur and Meerut via Saharanpur is on ground.

b) A tea packet is 15 cm long, 10 cm wide and 12 cm high. How many such tea packets

can be put in a box which is 80cm m long, 48 cm broad and 90m high?
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¢) Colour the grid as follows.

i) Red =22/100 ii) Yellow = 0.3 iii) Blue = 0.08 iv) Green = 2/10
d) Look at the floor map of a house. Make doors and windows on the deep drawing of this

house. Circle the windows on the floor map that you could not show on deep drawing.

e) A measuring vessel contains water up to 35 ml. Sohan drops 6 marbles in it.The water
level increases up to 65 ml. What would be the level of water when 10 more marbles are

dropped into the vessel?
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8. Following are the choices of sweets of children of Class V. (+% +14=2)
Pakoda, Jalebi, Burfi, Jalebi, Burfi, Pakoda, Jalebi, Rasgulla, Rasgulla, Rasgulla,
Burfi,Burfi, Pakoda, Pakoda, Pakoda, ,Burfi, Burfi Rasgulla, Burfi, Rasgulla, Burfi,

Rasgulla, Burfi,

i) Prepare a table for the name of sweets using tally marks.

Name of the sweets | Tally marks No. of children

ii) Which sweets is preferred by most of the children?

iii) more children prefer than

9. Fill in the blanks with correct answer. (1X4=4)
a) The area of a square is 144 square cm. Its perimeter is cm.
b) The cost one dozen pen is Rs 180. We can purchase pens for Rs 120.
¢) __ square tiles of side 30 cm each are needed to cover the floor of a room 450cm

long and 120 cm broad.

d) If your heart beats 72 times in a minute. It will beat times in a week .
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10. Do as directed. 2X4=8)

a) A rectangular tank 40 cm long, 20 cm broad and 55 cm high is filled with water. cm.

Find the volume of water tank .

b) All the class rooms in Anjali’s school are like this.

Windows
JaYi) A JAVAY
benches
MNotice | D D I:I I:I D
Board |:| |:| D D D Blackboard
- QJoopgdQd
. OO0on
Almirah ||| [ |

Display board Door

i) Tick () the thing which is exactly opposite the black board.
a) Display board b) Notice board ¢)Almirah

ii) The display board is on the side of the door.
iii) There are benches in the class room.
iv) The windows are of the display board.

¢) The distance between New Delhi and Kolkata is 4.2 cm on map. Allahabad is

exactly between New Delhi and Kolkata. How far is Kolkata from Allahabad
Page 9 of 11



on ground? (Scale: 1cm on map =400 km on ground)

d) The cost of 1 pen is Rs 7.50. How many pens can we buy for Rs 150?

11. Do as directed: 2x2=4)
(a)One kg fresh tomatoes becomes 100g when it dries up. A person needs 20g of dried
tomatoes each day on a trekking. How much fresh tomatoes should be dried up for

5 persons for 8 days?
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OBSERVATION AND REPORTING (18 marks)
1. Choose the correct option. (4 marks)
a. A mirror becomes when we blow air on it.( hazy / dry )
b. is the meaning of jule in the language of Changpas. (welcome / thankyou)
c. Cheraw dance is a special dance of . (Mizoram / Nagaland)

d. 1s everything for adivasis.( Forest / water )

2. Circle the odd one out. (3 marks)
a) Cleaning  rapicking sweeping teaching
b) Bus cycle car auto rickshaw

c) Football Basketball Cricket Chess

3. Observe the picture and answer the following. (6 marks)

1.




a. What is shown in the picture?

b. What is this place used for?

a. Name the person in the picture?

b. Which sports is she associated with?

QLo G-~ oo s oo o) 0D

a. Which musical instrument is shown in the picture?



b. How is this instrument used for making sound?

4. List any 5 observations made by Gregor Mendel when he did exp:eriments on pea

lant. (5 marks )
p

IDENTIFICATION AND CLASSIFICATION (16 marks)

1. Give one word for the following (4 marks)

a.The main crop of Mizoram

b.A person who trains the players in a particular game

c.Special type of window which comes out of the wall

d.An instrument used to listen sounds of heartbeat

2. Give two examples (3 marks)

a.Two traits we acquire from our family.

b.Two things children learnt at Khedi village.




c.Two petroleum products

3. Give reasons. (4 marks)

a. Saima sir did not take more land for farming in the lottery.

b. People on spectacles to clean them.

4. List any five differences between the ways of farming adopted by Damjibhai and
Hasmukh. (5 marks)

Damjibhai Hasmukh




DISCOVERY OF FACTS (16marks)

1. Write T for true and F for false statements (4 marks)
a) There are five players in each team of Basketball. ( )

b) Manali is located in Sikkim. ( )

¢) Suryamani belongs to Kuduk community. ()

d) On January 26, 2000 an earthquake occured in Kutch area of Gujrat. ()

2. Fill in the blanks. (3 marks)
a. Gregor Mendel carried out experiments on plant.

b. Changthang is located at height of metres.

C. is sweet roti made from jaggery and gram.

3. Answer the following questions. (4 marks)

1. What is full form of LPG? How can we save petrol?

2. Why is it difficult to breathe at Changthang?




4. Write a short note on Pashmina shawls (5 marks)




